MF Type Service Kits, 115 Volt AC

B .

E-SERIES CONTROL KNOB
(2) #202 SHAFT O-RINGS

“Z

e @
@ &
3BB2ZHEXNUT ——

T 19

NOMEX INSULATOR —___ =
3/8" NON-MET. WASHER — s

TB45 - TRIGGERBOARD

=N

(

ALSO INCLUDED IN THE MFC150K SERVICE KIT: )

(1) TC22 - 15A/400V TRIAC ASSY.

MFC150K

#%  BRYANT CONTROL, INC.
®  www.bryantcontrol.com

| MFC150K SERVICE KIT |
10AMP OR LESS/115VAC, 50/60Hz

(1) TRIGGERBOARD CABLE ASSY.

S |

E-SERIES CONTROL KNOB ‘

(2) #202 SHAFT O-RINGS D
3/8-32 HEX NUT \)g

T

PANEL MATERIAL
#012 BUSHING O-RING \

NOMEX INSULATOR ——_ _

3/8" NON-MET. WASHER

'——=
SRR
=i
TB45 - TRIGGERBOARD

SETREIIRRRRRRRRRRY

0

(__ALSO INCLUDED IN THE MFC250GK SERVICE KIT: )

(1) QB025P - 25A/600V TRIAC
(2) 1/4" PIGGYBACK CONNECTOR

(1) TRIGGERBOARD CABLE ASSY.

MFC250GK

OUTPUT SELECTION

"D" FOR HALF-WAVE

"A" FOR FULL-WAVE
MAX POT CONTROLS THE

MAXIMUM SPEED,
SHIPPED FULL ON - CW

MIN POT CONTROLS THE|[

D TB45
A

MINIMUM SPEE 7| 220030
SHPPED AT 51 voLTs
REPLACE J1 JUMPER WITH UEEE
EXT. CONTACTS FOR ON/OFF CONTROLAJR[Z]x
a)ola)

RED

w7 | FEEDER COIL
10A/115V

WITH HEATSINK

—

#%  BRYANT CONTROL, INC.
®  www.bryantcontrol.com

| MFC250GK SERVICE KIT |
20AMP OR LESS/115VAC, 50/60Hz

OUTPUT SELECTION

"D" FOR HALF-WAVE

"A" FOR FULL-WAVE
MAX POT CONTROLS THE
MAXIMUM SPEED. /V
SHIPPED FULL ON - CW
MIN POT CONTROLS THE
MINIMUM SPEED,
SHIPPED AT 8-12 VOLTS

|E| TB45

IHRER
REPLACE J1 JUMPER WITH
EXT. CONTACTS FOR ON/OFF CONTROLAJR[Z]x
74 [0] [
=)
P (a)
© w
] o
O\ T o
115VAC ML G
L15VAC WITH HEATSINK
g ~

MF Type Service Kits, 230 Volt AC

PARTS LIST:

2 A N

E-SERIES CONTROL KNOB

(2) #202 SHAFT O-RINGS @ ®
e @&
3BIZHEXNUT  —

T

19
PANEL MATERIAL

NOMEX INSULATOR —
. _ e =—— )
3/8" NON-MET. WASHER \\\\t\}\\\\\\\\\\\\v\)}\\\\i\\_\i\.\'\l\}\\\é\\%\\_}}\\\

TB23 - TRIGGERBOARD

(__ALSO INCLUDED IN THE MFC152K SERVICE KIT: )

(1) TC22 - 15A/400V TRIAC ASSY. (1) TRIGGERBOARD CABLE ASSY.

MFC152K

#%  BRYANT CONTROL, INC.
®  www.bryantcontrol.com

| MFC152K SERVICE KIT |
10AMP OR LESS/230VAC, 50/60Hz

REPLACE J1 JUMPER WITH
EXT. CONTACTS FOR ON/OFF

PARTS LIST:

e @

@ &
3BZ2HEXNUT ——

T

PANEL MATERIAL
#012 BUSHING O-RING \

NOMEX INSULATOR ——_ _

" - e —_— N
3/8" NON-MET. WASHER S ——
TB23 - TRIGGERBOARD

E-SERIES CONTROL KNOB
(2) #202 SHAFT O-RINGS

(__ALSO INCLUDED IN THE MFC252GK SERVICE KIT: )

(1) QB025P - 25A/600V TRIAC
(2) 1/4" PIGGYBACK CONNECTOR

(1) TRIGGERBOARD CABLE ASSY.

MFC252GK

230VAC
POWER
-

(OUTPUT SELECTION] D
"D" FOR HALF-WAVE
"A" FOR FULL-WAVE

MAX POT CONTROLS Tﬂ;

MAXIMUM SPEED,
SHIPPED FULL ON - CW

MIN POT CONTROLS THE
MINIMUM SPEE
SHIPPED AT 8-12 VOLTS

7| MN @@

|E| TB23
e] MAX

| KW |

g
conTROLAJRIZ
g

BLK m

@R

RED

- | FEEDER COIL
= 10A/230V

WITH HEATSINK

—

#%  BRYANT CONTROL, INC.
®  www.bryantcontrol.com

| MFC252GK SERVICE KIT |
20AMP OR LESS/230VAC, 50/60Hz

(OUTPUT SELECTION]
"D" FOR HALF-WAVE
"A" FOR FULL-WAVE

MAX POT CONTROLS THE|

MAXIMUM SPEED,
SHIPPED FULL ON - CW

MIN POT CONTROLS THE
MINIMUM SPEE
SHIPPED AT 8-12 VOLTS

gl 8

REPLACE J1 JUMPER WIT
BT CONTACTS FOR ONIOFF controLAIRZ|x
o

D TB23
A

ﬂMAX

MIN

Qo000
W IR

O{@fi&ﬁ@

230VAC
Z30VAC WITH HEATSINK
- —




